
 

Mat1375 HW10

Sol a fix
Domain Allrealnumbers but 2 since x 2makes f undefined

1 0,2012,06
Vertical Asymptoteis The VA is located at the zeroof

denominator

of f 2 0 x 2 V.A.isthelineXI
No removable discontinuities

b fix 78 7s
Domain All real numbers but x 2 and 4 since

makes f undefined

11 0,201340141
VA The VA is located at the zeroofdenominator of f

2 0 and 4 0 X 2and 4

Iliad
a fix
Domain All realnumber but XIO

2 2

1 0 2 U 2,0 v10,2UL2_I
Removable discontinuity 2 0 x

VA The VA is located at
the zeroofdenominator off

0 and 2 0 x 0 and z



V.A.arethelineko.KZ
fix as

Domain All realnumbersbut 2 3 5

Xe 0 3 01 3 2 012 5

VA After cancelation Fx y
2 0 5 0

x 2 x 5 V A are line x 2 and 5

Removable discontinuity 3 0 X 3

e fex D
Domain All realnumbers but 1 x7 1 0

Yet 0 1 U Ll b

VA fix No Vertical Asymptote

Removable discontinuity X 1 0 X I

f fix
p yz Efx 5

Domain All realnumbers but x 1 1 X 2

XE 0 1 U 1 1 V 112 U 2 A

VA The VA is located at thezeroof
denominator of f

2 0 Xt1 0 1 0 x 2 1

V A are lines X 2 1 1

No Removable discontinuity



Sol a Letpx 8 2 2 1 fex 243 2 fax

sincedeg p 2 deg q Ftir
17

HA is the line y 11 9 1 y

b Letpal 1 qx x35 26 9 fx x

Sino deg p 0 degq 2 then H.A is the line y
c Let px 43 2 fex x 1 fix

X DXT2
Sincethereis NOcommonfactorof Pixandfex and

deg PMI 2 deg fxs 1 then there is NO H.A

4 Let p x 12
3 4 2 8 1 I 7

sincethere is NO commonfactor of pix and go f
and deg pex 3 degqx 3 then

HA is the line 4 484 1 4 y



501 a fix 3
X intercepts o fix 3 0 x 3 3 o

y intercept s f o 3 0,3

b Fix

intercepts o fix X a 1 2 o

X 0 2 0 2 0 X 0 2 2

0 0 2,0 2,0

y intercept flo 184175 f 0,0

a Fx
intercepts extra

3 0 1 0 4 0 3 X 1 4

3 0 1 0 4,0

y intercept f o 5
0

d feX 1 but x 2

X intercept 0 f x 3 v3 0 3 3,0



y intercept cannotbe 0 since 7 0 is a VA

NO y intercept

Sol a fix 125 let Pex 7 2 fix 3 5

Domain All realnumbers but 3 5 0 XII
Xe 0 5 U 0

H A sincedegpex deg qx then

HA is the line y 11 8 1 3 y

VA VA occurs at 3 5 0 5
VA is the line s

intercept D fix 151 7 2 0
1 0

Era
p

É

91
a



b fix it

DomainAllrealnumbers but x 3 Xe 0 3 UC3,1 U IN

H.A Let PIX XX 2 qex 42 3

Since there is NO factorof pandq and
degpx1 2 deg q then

H.A is the line y 1 8 1 f y I

VA VA octars at Xt3 XY 0 3 0 4 0

VA are lines 3 X 1

intercept O f a xD o x 2 0 to

X 2 1 EI
y intercept fro É s 3 0

Graph

fiftti


